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Halloween Addition

Solve the following word problems.

Jack bought 2.45 pounds of candy corn and 3.50
pounds of gummy worms for halloween. How many
pounds of candy did he buy in total?

Emily spent $12.45 on a halloween craft and $7.50
on decorations. How much did she spend in total?

A halloween store sold 4.25 pounds of candy in the
morning and 3.75 pounds in the afternoon. How
many pounds of candy did the store sell in total?

A pumpkin weighs 5.34 pounds and another
pumpkin weighs 4.63 pounds. What is the total
weight of the two pumpkins?

A halloween party used 2.45 gallons of apple cider
and 1.55 gallons of punch. How many gallons of
drinks were used in total?

Liam bought 3.35 yards of orange fabric and 2.85
yards of black fabric for his halloween decorations.
How many yards of fabric did he buy in total?

A haunted house attraction made $345.23 in the
morning and $254.79 in the afternoon. How much
did the haunted house make in total?

8 A halloween cake recipe requires 1.25 cups of flour
and 0.75 cups of sugar. How many cups of these
4 ) ingredients are needed in total?
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